ACT Practice







Name ______________________________

Geometry A Chapters 1 and 3                     




Hour ______
Date _______________
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Choose the best answer.  It is expected that work is shown to receive full credit.  

______  1.  In the square to the right, what is the slope of line segment 
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11. In the square graphed below, what is the slope of line segment 77 ?

12. What is the sum of the 2 real solutions to the equation x = 6 — x> 7
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A. -2 

B. -1

C. 
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D. 1 

E.  2 

______  2.   In the picture below, YB // ZD.  If BAC = (a + 30) degrees, then ACD expressed in terms of a is:
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A. a + 30

B. a + 150

C. 150 - a
D. 60 + a
E. a - 60
______  3.  The perimeter of the triangle shown is 360 feet.  What is its area in square feet?
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A.  90

B.  120

C.  150

D.  5400

E.  10800

______  4.  The right triangle below has an area of 384 in2.  Find the perimeter. 
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A.  12 in

B.  24 in

C.  40 in 

D.  84 in

E.  96 in

______  5.  You are making a rug with a fringed border.  The rug is shaped like a regular octagon, as shown below.  Fringe costs $0.50 per foot.  How much will the fringe for the rug cost?


A.  $5

B.  $7

C.  $28

D.  $56

E.  $84


______  6.  Find the measure of angle one in the figure below.

A.  12º

B.  18º

C.  42º

D.  84º

E.  138º

______  7.  The diameter of a wheel is 36 inches and each revolution of the wheel covers the distance of one circumference.  To the nearest number of revolutions, how many revolutions of the wheel must be completed before the bike covers 1000 feet?

A.  3

B.  9

C.  28

D.  106

E.  9420

______  8.  The water in a swimming pool evaporates over time if the pool is not covered.  In one year, a pool can lose about 36 liters of water to evaporation for every square foot of water exposed.  If the pool is 7 yards by 3 yards, how much water is lost in two years?

A.  21 L

B.  189 L

C.  756 L

D.  6804 L

E.  13608 L

______  9.  Which of the following is an equation of a line that passes through the origin and is parallel to 2x – y = 5?  

A. -2x + y = 5

B.  2x + y = 5

C.  x – y = 0

D.  2x – y = 0 

E.  2x + y = 0

______  10.  A line segment is parallel to the x-axis and is 8 units long.  The two endpoints are (3,5) and (a,b).  Find a.
A.  -5

B.  -3

C.  0

D.  10

E.  13

______  11.  Point M is exactly midway between points A and B and also C and D.  Use A(-6,24), B(14,-4), and C(6,12) to find the coordinates of point D.

A. (-10, 14) 
B. (2, 8) 
C. (4, 10) 
D. (5, 11) 
E. (44, -32) 

______ 12.  Which equation is the equation of a line perpendicular to y = 4x – 7?
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[image: image3.wmf]3

4

+

-

=

x

y


B.  
[image: image4.wmf]8

4

-

=

x

y


C.  
[image: image5.wmf]18

4

1

+

-

=

x

y


D.  
[image: image6.wmf]12

4

1

-

=

x

y


E.  
[image: image7.wmf]8

7

+

=

x

y


______  13.  What is the y-intercept of the line parallel to 2x – 3y = 15 and goes through the point (9,5)?

A.  -3

B.  -1

C.  2

D.  8

E.  11

______  14.  Which of the following is the slope of a line that passes through the point (2,2) and between the points (-7,-7) and       (-7,-10) but does not contain either point?

A.  
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(x + 60) ft





32 in











(10x +34) inches 
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